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If A can complete a work in 20 days and B can do the same work in 30 days then find in how
lete this work?
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If A can complete a work in 24/5 days and B can do the same work in 72/7 days then find in how
many days A and B complete th|s work?
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If A can do a work 36 days and A and B together can complete the work in 12 days then find in
how many days B alQne complete this work?
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If A can complete a work in 10 days, B can do the same work in 20 days and C can do the same
work in 30 days then find in how many days they together comlete this work?
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A + B = 30 days then Find
B+ C=24days 1-A+B+C="7?
C+ A=20days 2-A="7




A= 15 days B= 10 days
If A started the work and after 5 days B joins him then find in how many days whole work will be
complete?
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A =18 days B=30days

They both started the work and after 6 days A left the work then find in how many days
remalnlng work will be complete?

A= 18 B=30
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=24 days B =32 days
If they both started the work and before 4 days of the completion of work A left the work then

find in how many days whole work will be complete?
B=32
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A=28days B=35days

they both started the work but after some days A left the work and B complete the remaining
work 17 days. After how many days A left the work?
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A=10days B=15days C= 20days

A and C worked together for 2 days and then A replaced by B. In how many days whole work will
be complete?
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A=24days B=9days C= 12days
B and C started the work but after 3 days they left the work. Find in how many remaining work
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A does 4/5 part of a work in 20 days. Then he calls B and they finish the remaining work in 3 |
days. In how many days B alone complete tgs work?
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A and B together can do a work in 10 days. They both started the work and after 7 days A left
the work and remaining work will be completed by B in 9 days then find in how many days B

alone complete the work?
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Two workers A and B are engaged to do a work. A alone would take 8 days more to completé the
work that when work together. If B work alone, would take 4 % days more than when working
together. The time required to finish the work together is ?
WR&A BWWW%%Q@% Aalﬁs'\tram‘faﬁ P8
3f& A, 9 98 wﬂwmﬁm Enz USH 1Y
gﬁ@myz wﬁmélwwzlmﬁw




Two workers A and B are engaged to do a work. A alone would take 27 days more to complete
the work that when work together. If B work alone, would take 3 days more than when working
together. The time required to finish the work together is ? .
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If first pipe can fill a tank in 10 hours, second pipe can fill the tank in 20 hours and third pipe “can
empty it 12 hours F|nd ifall p EI%_es are opened hen in how ma y hours the tank will fill?
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If a pipe can fill a tank in 8 hours. Due to leakage in tank, it takes 2 hours more to fill the tank
then find in how many hours Jeakage empty the h

f tank?
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Two pipes can fill a tank in 12 hours and 15 hours respectively and third pipe emptyitin 6 hours
If first two pipes opens for 5 hours and then third pipe also opened then find in how many hours
the tank will empty?
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Two pipes can fill a tank in 20 and 24 min respectively and a th|rd pipe empty it 7 liter/min. If all
three plpes cap fill itin 15 min thep find the capaaty of the%
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